el
T 2
n: r
il nHd £ AE CEREREEE e
0 —1 :2
10 TPp_ (PCA f})obeamllnef)
> 2
B
AN
D_.- 15 ................................................
;»—
T RISl IITEESES SIS (PRSRS SPRPRNE

<3 @> (rad)
o
=
(6)]

< 0dy > (kM)

o
[N

........

o
i

FETTY
B3

2 3
TPlpg) (PCA t%obeamlinélf)

Y ﬁ{k%'.'t"*éTé‘“ IRpIO: ““‘*6’8‘2” d‘”
Ie —ste) £€H 1t0020
p eric_step2 BO etalp6to2p0

N
o

[N
U1

-
o

1

-10

-15

-20

..............

107 1

I : 2 3
TPlpg)T (PCA tloobeamlin:eL)O

<dd,>(um)

2 3
TPl[g)T (PCA f%)obeamlinéf)



	Contents
	Page 1


